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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
01 1469 4.5 0.9 6 74.7 100
02 1467 5.6 0.8 6 93.1 99.9
03 1456 4.7 1.5 6 78.9 99.1
04 1417 4.1 1.7 6 67.8 96.5
05 1437 3.5 1.6 6 59.1 97.8
06 1415 2.8 1.6 6 46.9 96.3
07 1440 2.3 1.4 6 38.3 98
08 1451 4.5 1.5 6 74.9 98.8
09 1418 1.4 1 6 23.9 96.5
10 1406 2.3 1.5 6 38 95.7

If you are accessing this 
document in a web 
browser and are only 
able to see this single 
page, please download 
the document and re-
open it in Adobe 
Reader in order to fully 
access the exemplar 
material.
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

'Go to theatre,' suggests going inside a building which is not what the festival is about.



Sticky Note

This answer may have been inspired by the accompanying image of a building which looks like a castle.



Sticky Note

The candidate has read ,'cent cinquante artistes,' and not fully understood the text.



Sticky Note

Total: 1 mark.













Sticky Note

This single word answer was considered acceptable given the wording of the question. 



Sticky Note

Total: 1 mark.












Sticky Note

One of the few candidates to give a correct answer for this part of the question. 



Sticky Note

' Juillet,' not recognised.



Sticky Note

Many candidates failed to give a correct answer to this question. 



Sticky Note

Total: 3 marks.








































Sticky Note

If the candidate had written, 'an' instead of,'no' then a mark would have been awarded.



Sticky Note

Total: 2 marks.












Sticky Note

Total: 2 marks.












Sticky Note

Incorrect verb. The text says, 'était,' not,'est devenue.' The translation has to be very precise and each word has to be accurately translated.
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Question 3 [6] 
 


L’opinion Prénom  
(a) Je fais des recherches. Anna [1] 


(b) Je déteste jouer sur Internet. Jean [1] 


(c) C’est bien de communiquer avec ses copains. Paul [1] 


(d) Mon copain s’intéresse beaucoup aux jeux sur 
Internet. Jean [1] 


(e) J’aimerais un autre téléphone. Marie [1] 


(f) J’écris des messages à mes amis. Paul [1] 
 
 
 
Question 4 [6] 
 
(a) Gustave Eiffel [1] 
 
(b) (plus de) huit millions [1] 
 
(c) en été [1] 
 
(d) Any two of:  [2] 


se promener 
se reposer 
faire du sport 


 
(e) menu très limité [1] 
 
 
 
Question 5 [6] 
 
Why Michel is happy: he has just got/found a job [1] 


What he will do on Saturdays: work (in a sports shop) [1] 


Disadvantages:  
Write two details. 


the money/salary isn’t good  
the hours are long [2] 


His mother’s opinion of him: she thinks he is too chatty/talks too much [1] 


Next weekend: 
Write one detail. 


Any one of: 
he will work (two hours) longer   
it will be tiring/he’ll be tired 


[1] 


 
 
  












4. Lis l’article sur Paris. Réponds aux questions en français. [6]


Visitez la tour Eiffel !
La tour Eiffel a été construite par 
Gustave Eiffel.


Au total, plus de huit millions de 
touristes viennent la voir chaque année, 
surtout1 en été.


La tour Eiffel est située sur le Champ-
de-Mars où on peut se promener en 
famille, se reposer ou même faire du 
sport.


En haut de la tour il y a aussi un 
restaurant mais malheureusement2 le 
menu est très limité pour les enfants.


	 Vocabulary


1 surtout – especially
2 malheureusement – unfortunately


(a) Qui a créé la tour ? [1]


(b) Combien de touristes visitent ce monument ? [1]


(c) Quand est-ce que la majorité des touristes visitent la tour ? [1]


(d) Qu’est-ce qu’on peut faire sur le Champ-de-Mars ? Écris deux détails. [2]


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(e) Au restaurant, quel est le problème pour les enfants ? [1]
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Question 6 [6] 
 
(a) not pleasant/not agreeable [1] 
 
(b) his parents are strange [1] 
 
(c) went to visit his uncle 


he went for a walk/walked every day [2] 
 
(d) stay at home/not go on holiday [1] 
 
(e) Any one of: [1] 


he’s too young 
he’s found a super place for him  
he’s going to do mountain biking for 2 weeks 


 
 
 
Question 7 [6] 
 
(a) an arts festival [1] 
 
(b) 2nd July [1] 
 
(c) Any two of:  [2] 


acting (not going to the theatre) 
watching a show 
watching fireworks 


 
(d) it is free/costs nothing [1] 
 
(e) Any one of: [1] 


on (about) twenty sites  
in the open air/outside  


 
 
 
Question 8 [6] 
 
  Name  


(a) Who is interested in science? Pierre [1] 


(b) Who would like to train for a practical job? Lucien [1] 


(c) Who wants to take a gap year? Sophie [1] 


(d) Who dreams about leaving school? Lucien [1] 


(e) Who is planning to save money? Bernard [1] 


(f) Who wants a well-paid job? Pierre [1] 
 
 
  












6. Read the text below adapted from the novel Quel cirque1 ces vacances ! by Anne Loyer and
Aude Brisson. The narrator is a boy called Basile. Answer the questions in English.	 [6]


Incroyable, je sais, mais les vacances chez moi ne sont pas agréables du tout.
Tout ça parce que mes parents sont bizarres.
L’année dernière j’ai rendu visite à mon oncle et c’était barbant. On devait faire une 
promenade tous les jours.
Cette année je veux rester chez moi, alors j’ai dit à mes parents :
« Maman, je peux rester à la maison ?
– Mais non, tu es trop jeune, a répondu papa. On a trouvé un super endroit pour
toi. Tu vas passer deux semaines à faire du V.T.T ! »


	 Vocabulary


1 cirque – circus


(a) What is Basile’s opinion of holidays? [1]


(b) What is the reason for his opinion? [1]


(c) What did he do last year? Write two details. [2]


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(d) What does Basile want to do this year? [1]


(e) Why does his father disagree? Write one detail. [1]
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Question 6 [6] 
 
(a) not pleasant/not agreeable [1] 
 
(b) his parents are strange [1] 
 
(c) went to visit his uncle 


he went for a walk/walked every day [2] 
 
(d) stay at home/not go on holiday [1] 
 
(e) Any one of: [1] 


he’s too young 
he’s found a super place for him  
he’s going to do mountain biking for 2 weeks 


 
 
 
Question 7 [6] 
 
(a) an arts festival [1] 
 
(b) 2nd July [1] 
 
(c) Any two of:  [2] 


acting (not going to the theatre) 
watching a show 
watching fireworks 


 
(d) it is free/costs nothing [1] 
 
(e) Any one of: [1] 


on (about) twenty sites  
in the open air/outside  


 
 
 
Question 8 [6] 
 
  Name  


(a) Who is interested in science? Pierre [1] 


(b) Who would like to train for a practical job? Lucien [1] 


(c) Who wants to take a gap year? Sophie [1] 


(d) Who dreams about leaving school? Lucien [1] 


(e) Who is planning to save money? Bernard [1] 


(f) Who wants a well-paid job? Pierre [1] 
 
 
  












7. Read the magazine article about a festival. Answer the questions in English. [6]


Le Festival d’Avignon


Depuis 1947 le Festival d’Avignon a lieu 
tous les ans, pour célébrer les arts. Il 
commence le deux juillet et finit le
vingt-cinq juillet. Pendant le festival 
on peut faire du théâtre, regarder des 
spectacles ou voir des feux d’artifice.


Ce festival propose des activités 
artistiques qui sont gratuites ! Chaque 
année, plus de cent cinquante artistes 
participent au festival sur environ vingt 
sites en plein air.


(a) What type of festival is it? [1]


(b) What date does it start? [1]


(c) Which activities are available? Write two details. [2]


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(d) How much do the activities cost? [1]


(e) Where exactly do these activities take place? Write one detail. [1]
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Question 9 [6] 
 
(a) their timetables [1] 
 
(b) go outside  [1] 
 
(c) 7.45am  [1] 
 
(d) Any two of: [2] 


in the basement 
too small 
not enough chairs for them 


 
(e) Any one of:  [1] 


he only studied 
he went to bed after dinner/evening meal 


 
 
 
Question 10 - Translation [6] 
 
Protéger l’environnement est très important pour les jeunes. On peut faire beaucoup de 
choses comme le recyclage ou économiser l’énergie. L’année dernière, la pollution était 
un problème sérieux mais on a fait des efforts. 


 
French *Reward 1 mark for each section 
Protéger l’environnement est Protecting the environment is 


très important pour les jeunes. very important to young people. 


On peut faire beaucoup de choses You can do lots of things 


comme le recyclage ou économiser l’énergie. such as/like recycling or saving energy. 
L’année dernière, la pollution était un problème 
sérieux 


Last year, pollution was a serious 
problem 


mais on a fait des efforts. but we have made some effort. 
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Translation


10. Read the following passage and translate it into English. [6]


Protéger l’environnement est très important pour les jeunes. On peut faire beaucoup de 
choses comme le recyclage ou économiser l’énergie. L’année dernière, la pollution était un 
problème sérieux mais on a fait des efforts.


END OF PAPER







































Sticky Note

Questions clearly not understood. Limited comprehension.












Sticky Note

'Qui,' was not understood.



Sticky Note

Rubric infringement. Question understood - answer given in the wrong language.



Sticky Note

Total: 3 marks.












Sticky Note

Very good, accurate answers.
Total: 6 marks.








































Sticky Note

Questions are less accessible for this candidate who has left gaps instead of attempting to answer. This was not usually the case as most candidates attempted an answer at least.



Sticky Note

Total: 1 mark.












Sticky Note

Basile doesn't like holidays and later on in the text expresses the wish to stay home and not go on holidays.
This answer was considered acceptable as it conveys his dislike of holidays.



Sticky Note

Good, accurate answers.



Sticky Note

The candidate appears to find this question inaccessible and leaves a blank space. Candidates should be encouraged to at least attempt an answer.



Sticky Note

Total: 5 marks.












Sticky Note

The candidate has focused on the first word,'Incroyable,' and takes this to refer to the holidays.



Sticky Note

After careful consideration it was decided to award a mark for this answer. 'Go bizarre,' is a strange expression, however the candidate conveys the idea that Basile dislikes holidays because of his parents who are odd.



Sticky Note

Accepted for one mark although the candidate fails to use the plural form 'walks.'



Sticky Note

Rubric infringement. Incorrect language used to answer.



Sticky Note

Total: 3 marks.







































